Problem 7~ Z

Vo=75V, fs=20kHz, L=0.001H, C=470pF, V4= 12.6V, I, =02A |
Find AVo.
Solution: Is the circuit operating in the continuous mode?

From Eq. 7-5, IoB = Ef%: [Vd-Vol = 0.0754 where D = 1—25_6— = 0.397

| T§(1-D)Vo
" Itis in the continuous mode, so from Eq. 7-24AV, = —gic

RPN s B /i VX)) R
0 = (20,000)2-8+0.001+47010-6 ~

e

AV =2.01 mV

A aenev'a'\ Comment about c‘aic‘u'»é%'iv‘\g the ripple voltmge
accoss the filker cabacitor: iw practice, dne eguivalenk -
seties- vesistance ESR of Hie filter cabacitar causes a
sigwificant portion of the ovevall ribple volrage. Therebuxe,
the ESR wmust be included in the vipple veltage calculations,
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